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6.EE.2a

SELECTED RESPONSE

Select the correct answer.

1. Which expression below represents
“k more than 82

@® 8k
®8+k
©8-k
8
@

2. Which statement below could be
represented by the expression 7 — {2
(@& tlessthan 7
(B> 7 times ¢
(© tmore than 7
(B> 7 less than t

3. Which statement below CANNOT be
represented by the expression t — 167
(& 16 less than ¢
(B tdecreased by 16
(© tless than 16
(D) 16 subtracted from

4. Marcus and Judy are picking apples. At
the end of the day, Marcus has a apples.
Judy has 5 times as many apples as
Marcus. How many apples does Judy
have in terms of a?

®a-5
®5+a

5
©3
© 5a

Select all correct answers.

5. Which of the following statements could
be represented by the expression d — 107

@ 10 less than d

® 10 more than d

(© ddecreased by 10

@ dless than 10

> dminus 10

(> dincreased by 10
6. Which of the following indicates that the

operation is addition?

@ 8plusj

(B> kfewerthan 10

(© rincreased by 7
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Select the correct answer for each lettered part.
7. Choose the operation that is indicated by each statement.
)

a. 5 more than n
b. 11 fewer than w
c. kdivided by 4

d. yless than 8

e. 2timesr

T. 9increased by g

0+
0+
o+
o+
o+
o+

o-
o-
o-
o-
o-
o-

ox
ox
ox
ox
ox
ox

(@ 14 divided by n
(B> 11 decreased by h
(P 6 more than s
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CONSTRUCTED RESPONSE
8. Rebecca and Clark are playing baseball
During the first hour, Rebecca has rhits
and Clark has 3 more hits than Rebecca.
During the second hour, Clark has ¢ hits
and Rebecca hits 5 fewer than twice the
number of Clark’s hits.
. Write an expression for the number
of hits Clark made in the first hour.

b. Write an expression for the number
of hits Rebecca made in the
second hour.

9. The zoo has lions, tigers, and bears.
There are t tigers in the zoo.
a. How many lions are in the zoo if
there are 3 more lions that tigers?

b. How many bears are in the zoo if the

number of bears is two times the
number of lions?

10. a. Write an expression represented by
the statement “3 more than n."

1. A construction crew is installing lights in a
room. The room has an area of s square
feet. The number of lights required in the
room is s divided by 5.

a. How many lights are required in
the room?

b. The construction crew has 10 more
lights than the number of lights
required. Use your answer from
part a to write an expression for the
number of lights the construction
crew has.

c. Some of the lights are broken, so it
turns out that the construction crew
has 15 fewer lights than the number
of lights required. Use your answer
from part a to write an expression for
the number of lights the construction
crew has.

d. After receiving a new shipment, the
‘construction crew has twice the
number of required lights. Use your
answer from part a to write an
expression for the number of lights
the construction crew has.
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b. Write an expression represented by

the statement om increased by 3 12. Trudy is ordering pies from Sal. Trudy

orders 3 more apple pies than ¢ cherry
pies. Sal gives Trudy ¢ cherry pies and
- 3 apple pies. Explain Sal's mistake

c. Write an expression represented by and correct it.

the statement “n plus 3.

d. What can you say about the
statements in parts a through ¢
in terms of the expressions
they represent?
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. Clark made r+ 3 hits in the first hour.
. Rebecca made 2¢ - 5 hits in the
second hour.
Rubric
a. 1 point
b. 1 point
a. There are t+ 3 lions
b. There are 2(t + 3) bears. (2t + 6 is also
acceptable.)
Rubric

a. The number of lights required in the
s
room is <.
5
b. The construction crew has
s
2410 lights.
5 i
c. The construction crew has
s
S _15 lights.
5 i
d. The construction crew has
s
2 2| iights.
(5] <
Rubric
a. 1 point
b. 1 point

c. 1 point
d. 1 point

. Sal gave Trudy ¢ - 3 apple pies, which is

3 apple pies fewer than ¢ cherry pies. Sal
should have given Trudy ¢ + 3 apple pies.
Rubric

1 point for mistake; 1 point for correction




